
www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay +598 2900 0237euromotors@euromotors.com.uy

www.euromotors.com.uy
Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

078903133AB VWPassat2.8 11.00-05.05

76*25078903133B VW Passat 4.0 W8 09.01-09.04
1 078903133T VW PASSAT 2.8 V6 06.97-11.00

2 76*25
038903315A VW Bora1.9TDI/1.9SDI 1998-2001
038903315E VW Golf1.9TDI/1.9SDI 1999

3 038903315K SEAT1.9TDI 11,99 70*24
SKODAOCTAUIA1.9TDI 7,98

VWBORA1.9TDI 10.98-06.01
4 038903315C VWGOLF1.9TDI VWPOLO1.9TDI 07.98-04.02

 09.96-09.01
70*24

5 028903315M VWPassat(3B5)1.9TDI 06.97-11.00
028145278J VWPassat(3B2)1.9TDI 10.96-11.00

VW Passat(3B2) 1.9 TDI 4motion 08.99-11.00
 08.99-11.00VW PASSAT VARIANT (3B5) 1.9 TDI

 4motion
83.5*29

7 377260299 VWGol1.6/1.8 08.03-01.05
VWPARATI1.6/1.8/2.0 08.02-07.05
VWSAVEIRO1.6/1.8 3,02 76*31

8
9 377145299 VWGol1.6/1.8 08.03-01.05

VWPARATI1.6/1.8/2.0 08.02-07.05
VWSAVEIRO1.6/1.8 3,02 75*31

038903315AE VWBORA1.9TDI 05.00-05.05
038903315F VWGolf1.9TDI 05.00-06.05

1122523 VWSharan1.9TDI 04.00
10 1376631

 YM216K254AA
VWTRANSPORTER1.9TDI 4,03 70*26

YM216K254AA
YM216K254EA

VOLKSWAGEN

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y TensoresPoleas y Tensores

1 2 3 4

5 6 7
8

9

1 2 3 4

5 6 7
8

9

1 2 3 4

5 6 7
8

9 10



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

11

06A903315D VWBORA1.6/1.8/2.0 06.02-10.04
06A903315E VWGOLF1.6/1.8/2.0 08.03-01.05
06A903315F VW (FAW) MAGOTAN (B6) 1.8 TSI 06.07-07.11

70*24
30145299 VW CADDA1.4/1.6 1995-2004

030145299C VW Golf1.4/1.6 1997-2005
030145299F VW Polo1.4/1.6 1999-2001

12 70*26
VW Vento1.4/1.6 1991-1998

13
58903133 VWPASSAT1.8/2.0 11.00-05.05

058903133A
058903133B

14 058903133C 75.5*21
058903133D

028903315G VWGOLF1.9TDI/TDI 09.93-07.99
028903315B VWPASSAT1.9TDI 10.93-05.97
028903315R
 028903315N

VWPOLO1.7SDI/1.9TDI/SDI 06.97-09.01
15 028903315D

 028903315E
74*40

028903315H
028903315J
028903315K

07D145277E VW PHAETON 6.0 W12 04.02-05.05
07D109244A
07D145299E

16 07D903315J 60*34
17 03G903315A VWGOLF1.9TDI/2.0TDI/SDI 1,05 70*25

03G903315 VWPASSAT2.0TDI 8,05

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y TensoresPoleas y Tensores Poleas y Tensores

11 12 13 14

15 16 17



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

VW POLO (6R,6C) 2.0 R WRC 08.1303.06-
VW EOS (1F7,1F8) 2.0 TFSI  08.15

18 06F903315 VW GOLF V (1K1) 2.0 GTI  10.04-02.09 70*26

032145299A VW BORA (1J2) 1.4 1.6V 03.00-05.05
VW GOLF IV (1J1) 1.4 16V 08.97-06.05

VW NEW BEETLE (9C1,1C1) 1.4 11.01-09.10
19 70*24

038145278 VW GOLF IV (1J1) 1.6 08.97-05.04
038145283A VW PASSAT (3B3) 1.9 TDI 02.00-11.00

20 038145299A
 038903278

VW BORA (1J2) 1.9 TDI 09.00-05.05 82*22
038903315D
038903315P

21 76*22
06B903133 VW GOLF

22 06B903133A VW POLO
06B903133E VW CRAFTER 76*28

23
24 06B903341B

 06B903341
90*24

022145299H VW Golf V 3.2 05-08
022145299L VW Passat Variant 3.6 FSI 11-14

25 022145299C 62.2*22.6
26

022145276C
022145276F

27 022145276E
 071145276A

65*26

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

18 19 20 21

22 23 24 25

26 27



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

28 059903133F VW TOUAREG (7P5) 3.0 V6 TDI 01.10-
95810236150
95810236151
 059903133J

29 06E903133E PORSC CAYENNE 3.0 S E-HYBIRD 10,14
06E903133B PORSC PANAMERA 3.0 S E-HYBIRD 3,11
06E903133A VWPASSTA2.8V6 09.99-11.00
06E903133Q 75*25

30 06E903133M VW TOUAREG(7P5)3.0V6TSIHybrid 4,1
06E903133AB PORSCHECAYENNE(92A)3.0S 04.11-
95810236110 PORSCHEPANAMERA(970)3.0E-Hybrid 03.11-
06E903133H 69*28.5

06E903133AC
06E903133AA

06E903133T PORSCHE CAYENNE 3.0 S E-Hybrid 10-14-
06E903133A PORSCHE PANAMERA 3.0 S E-Hybrid 09.12-07.13
06E903133B
06E903133E
06E903133L

31 06E903133N
 06E903133Q06E903133R
95810236120
95810236130

32

06E903133M
 06E903133AA
 06E903133AB
 06E903133AC
 06E903133H
 95810236110

VW TOUAREG(7P5)3.0 V6 TSI Hybrid 
PORSCHE CAYENNE 3.0 S E-Hybrid 
PORSCHE PANAMERA 3.0 S E-Hybrid

04.10
 09.1107.13-

 10.16

03C145299C VW CADDY III BOX 1.2 TSI 2010-2015
1JD145299 VW EOS 1.4 TSI 2007-2015

03C145299Q VW GOLF PLUS 1.4 TSI 2007-2013
33 03C145299R VW JETTA III 1.6 FSI 2005-2010 65*25

VW PASSAT 1.4 TSI 2010-2014
VW POLO 1.2 TSI 2011-2014

VW TOURAN 1.2 TSI 2010-2015

34 1JD145299A VW 65*25

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

28 29 30 31

32 33 34



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

1106830 VW GOLF III (1H1) 2.8 VR6 01.92-08.97
1669984 VW PASSAT (3A2,35I) 2.8 VR6 06.91-08.96

95VW6A228AB VW VENTO (1H2) 2.8 VR6 01.92-09.98
35 95VW6A228EA 63*29

F95VW6A228EA
021145299B
021145299C
6382370016

36
062145299A VW LT 28-35 II BUS (2DB,2DE,2DK) 2.8 TDI 05.01-06.06

VW LT 28-46 II BUS (2DA,2DD,2DH) 2.8 TDI 04.02-07.06
37

0282602992 VW
38 VW LT 28-35 I BUS 2.8 TDI

 VW LT 28-46 II KASTEN 2.8 TDI
05.01-06.06
 04.02-07.06VW LT 28-46 II PRITSCHE/FAHRGESTELL 2.8 TDI 04.02-07.06

39 0282602991 VW
40 06J903133A

 06J903133D
VW CC (357) 2.0 TSI 11.11-12.16

 09.07-12.10
65*23.5

 VW PASSAT VARIANT 09.07-12
41 030145299H VW POLO 1.0 10.99-09.01 65*23.5
42 36145299 VW SEAT SKODA

 V GOL 1.0 8/16V
1995-1999 76*25

43 VOLKSWAGEN ROUTAN V6 4.0L 10-09 70*26

03G903315C VW CADDY Ⅲ BOX 1.9 TDI 09.05-08.10
03G903315D VW EOS 2.0 TDI 06.06-05.08

44 03G903315G VW TRABSPORTER V BOX 1.9 TDI 01.06-11.09 70*26

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

35 36 37 38

39 40 41 42

43 44



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

45 077903133F
 077903133G

VW PHAETON (3D_) 4.2 V8 4 MOTION 05.03-03.16
 12.02-11.06

70*31
VW TOUAREG (7LA,7L6，7L7) 4.2 V8

038903315AG VW AMAROK (2H_,S1B) 2.0 BITDI 09.10-
038903315AD VW BEETLE (5C1，5C2) 1.6 TDI 10.1111.11-
038903315AH
 038903315T

VW CC (358) 2.0 TDI 12,16
46 038903315AM

 038903315AN
70*24

038903315AJ
38903315AM

47 03C145299J VW TRANSPORT T6 BOX 2.0 TDI 06.15- 76*26
045903315A SEAT CORDOBA 1.4 TDI 05.05-11.09

SEAT IBIZA 1.4 TDI 06.05-11.09
48 SKODA FABIA 1.4 TDI 04.03-12.07

 07.06-03.10
70*28

SKODA ROOMSTER 1.4 TDI
VW FOX 1.4 TDI 04.05-

VW POLO 1.4 TDI 04.05-11.09
037903315C VW CADDY II BOX 1.6 11.95-05.97
037903315A VW GOLF III 1.6 07.95-08.97

49 037903315B
 037903315D

VW PASSAT 1.8
 VW PASSAT WARIANT 2.0

08.90-08.96
 02.90-05.97VW VENTO 1.6 10.94-09.98

VW VENTO 1.8 11.91-09.98
VW VENTO 2.0 11.91-09.98

03D903305F SEAT CORDOBA (6L2) 1.2 10.02-06.06
03D903305G SEAT CORDOBA (6L2) 1.2 12V 05.06-11.09
03D903305B SEAT TOLEDO IV (KG3) 1.2 07.1209.10-
03E903133 VW FOX (5Z1，5Z3) 1.2 VW 06.09-

50 03E903133A POLO (6R,6C) 1.2 70*26
03E903133B VW POLO (9N_) 1.2 12V 10.01-07.07
3D903305F
3E903133B

51

06H903133G SEATEXEOST1.8TSO 09.10-
06H903133F VWAMAROK2.0TSI 05.1007.12-

VWMULTIVANT57HF2.0TFSI 8,15
VWTRANSPORTT5BOX2.0TSI 07.12-08.15 70*23.8

52

022145299E VW PHAETON (3D_) 3.6 V6 4 MOTION 11.08-03.16
VW ROUAREG (7LA,7L6，7L7) 3.2 V6 10.02-11.06

VW TOUAREG (7P5) 3.6 V6 FSI 04.1010.03-
PORSCHECAYENNE3.2 9,07 69*28
PORSCHECAYENNE3.6 02.07-09.10

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

45 46 47 48

49 50 51 52



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

06L903133D SEAT LEON(5F1)1.8TFSI 02.1302.1310.1311.12-
SEAT LEON SC 1.8 TSI 05.13-
SEAT LEON ST 1.8 TSI

SKODA OCTAVIA (5E3)1.8 TSI 60*24
53 SKODA OCTAVIA 2.0 TSI RS

VW GOLF VII(5G1)2.0GTI 04.13-
VW PASSAT 2.0 TSI 02.15-
VE POLO 1.8 GTI 11.14-

04L903315A VWGOLFVIIV2.0TDI 10.1001.1502.15-
04L903315B VWJETTAVII2.0TDI 05.15-
04L903315F VWPASSAT2.0TDI 65*24

54 04L903315G VWCADDYIVESTATE2.0TDI
VWCC2.0TDI 05.15-

SKODAOCTAVIA2.0TDI 11.12-

03C145299A VWPASSATVARIANT1.4TSI 01.09-11.10
03C145299AC VWSHARAN1.4TSI 05.1005.1006.09-
03C145299G VWTOURAN1T31.4TSI 05.10-

55 03C145299P SEATIBIZAVSPORTCOUPE 65*26
03C145299H SKODAFABIACOMBI1.4TSI
03C145299K VWCC3581.4TSI 11.11-
03C145299L VWGOLFV1K11.4TSI 05.06-11.08

VWJETTAIII1K21.4TSI 07.08-10.10

03C145299M SEATALHAMBRA(710)1.4TSI 6,1
03C145299D SKODAFABIACombi1.4TSI 5,1

SKODA FABIA 1.4 TSI 02.12-
56 VWCC(358)1.4TSI 11,11 58*20

VWBORA/JETTA1.4TSI 06.07-07.09
VWEOS1.4TSI 05.08-08.15

6Q0145299 SEAT CORDOBA 1.6 16V 11.0711.0704.07-
6Q0145299A SEATALTEA1.4TSI 07.1209.06-05.15

SKODAFABIA1.6
57 SKODA RAPID 1.6 65*25

SKODA ROOMSTER 1.6
VWGOLFPLUS1.4TSI 06.07-12.13

VWJETTAIII1.4TSI 05.11-
VWPOLO1.6 01.10-

VWTIGUAN1.4TSI 08.08-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

53 54 55 56

57



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

04E145299P SEAT IBIZA V 1.0 05.1512.1210.1110.11-
04E145299E SEAT LEON 1.2 TSI 01.15-
04E145299 L SEAT Mii 1.0
04E145299N SKODA CITIGO 1.0

58 SKODA FABIA 1.6 65*26
VW CC 1.4 TSI 05.15-

VW GOLF SPORTSVAN 1.0 05.15-
TSI

VW BEETLE 1.2 TSI 16V 12.14-

06E903133A PORSCCAYENNE3.0SE- 06.1007.13-
06E903133B Hybird 08.10-
06E903133N PORSCPANAMERA3.0SE-

59 06E903133T Hybird
95810236130 VWTOUAREG(7P5)3.0V6TSI 76*26
95810236120
 06E903133Q06E903133E
06E903133L
06E903133R

60

059145201D VWPHAETON3.0V6TDI
 

11.08-

75*26 059145201F VWTOUAREG7P53.0V6TDI 01.1011.07-05.10
059145201H VWTOUARED3.0V6TDI 06.10-

PORSCHECAYENNE3.0DIESEL

038903315AB SEATCORDOBA6L21.9SDI 09.02-11.09
SEAT IBIZA IV 1.9 TDI 02.02-12.05

61 SKODAFABIA6Y21.9SDI 12.99-03.08
 04.07-03.10SKODA FABIA 1.9 TDI 10.01-11.09

VWPOLO9N1.9SDI
VW POLO SALOON 1.9 SDI 09.02-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

58 59 60 61



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

62 079903133AL
 079903133AJ VWTOUAREG4.2V8FSI 06.06-05.10

06K903133G SEAT ALHAMBRA 2.0 TSI 05.1511.1510.13-
06K903133A SEAT IBIZA V SPORTCOUPE 1.8 YSI

 CUPRA
11.14-

63
SEAT LEON ST 1.8 TSI

 SEAT LEON ST 1.8 TSI 4DRIVE

64 6QD145299 VW

071145299D VW BORA 1J2 2.3 V5 10.98-10.00
071145299B VW GOLF IV 2.3 V5 08.97-10.00

65 VW GOLF IV VARIANT 2.3 V5 05.99-06.06

03F145299A VW CADDY III BOX 1.2 TSI 09.10-05.15
VW GOLF VI 1.2 TSI 03.11-

66 VW JETTA 1.2 TSI 10.10-
VW TOURAN 1.2 TSI 11.09-

VW POLO 1.2 TSI 11.09-

028903315P VW CADDY II PICKUP 1.9 D 06.96-12.00
67 VW POLO 6N1 1.7 SDI 08.97-10.99

VW POLO BOX 1.9 D 10.94-12.99

047903315A SKODA FAVORIT PICKUP 12.92-06.97
SKODA FELICIA I ESTATE 1.3 10.94-03.98

68 SKODA FELICIA II 1.3 01.98-06.01

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

62 63 64 65

66 67 68



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

ITEM OE NO. MODEL YEAR SIZE
74145289 VWLT28-35II2.5TDI 05.99-07.06
74145283 VWLT28-46IIPLATFORM2.8TDI 07.97-01.02

69 074145278D VWTRANSPORTT4BOX2.0 07.90-04.03 76*27
70 074145299A

04B903315 VW POLO (6R,6C) 1.4 TDI 3,14
SEAT IBIZA V (6J5,6P1) 1.4 TDI 05.1505.15-

71 SEAT TOLEDO IV (KG3) 1.4 TDI 05.15- 55*25
SKODA FABIA III(NJ3) 1.4 TDI
SKODA RAPID (NH3) 1.4 TDI 05.15-

72
04L145299G Volkswagen Transporter 2003-
04L145299E VW
04L145299B

73 04L145299F Volkswagen Crafter VW 2017-
VW

07K903315S VW
JETTA RABBIT PASSAT 2.5L 05-14

 07.05-09.1074 07K903315F VW NEW BEETLE (9C1,1C1) 2.5 07.05-09.10 65*22
VW NEW BEETLE CABRIOLET(1Y7) 2.5 07.05-09.10

07K903315T VWJETTA111（IK2）FSI 01.06-10.10
07K903315N

75 07K903315J
 07K903315G

65*22
07K903315E

76
076145261A VW CRAFTER 3035Bus(2E_)2.5TDI 04.06-07.11 76*26

VWLT28-35IIBus(2DB,2DE,2DK)2.5TDI 05.01-07.06
 04.06-05.13076145278 VW CRAFTER 30-50 PLATFORM 2.5TDI 04.06-05.13

77
022145299D SEAT LEON2.8CUPRA4 02.01-06.06
022145299A SEAT ALHAMBRA 2.8 V6 09.01-12.08

78 022145299
 022145299B

VW GOLFIV1J12.3V5 10.00-06.05
 02.04-11.09

73*24.5
022145299B  VW MULTIVANT5 02.04-11.09

VW NEWBEETLE9C11C12.3V5 04.00-05.01
VW TRANSPORTERT5PRINTSCHE 08.03-05.06

69 70 71 72

73 74 75
76

77 78



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

032145299C SEAT CORDOBA 1.4i 06.94-06.99
6K0145299 VW JETTA 1.4 VW POLO 1.4 16V 11.91-09.98

 10.99-09.0179 70*26

80

059145283A SKODA SUPERB I 2.5 TDI 12.01-08.03
VW PASSAT 2.5 TDI 12.01-08.03

VW PASSAT VARIANT 2.5 TDI 4 M11.00-05.05

81 059145283A VW

82
06E903341A VW
06E903341G
95810211900 75*26

83
06E903341H VW
06E903341E
95810211801 80*31

84 5X0145285
 0281452991

VW 73x22

85

04E109244A VW CC 1.4 TSI 05.15-
04E109244B
04C109244D

86 062145278A VW

87

272136 VW PASSAT (3B2) 2.5 TDI 07.98-11.00 76*26
59145276 VW PASSAT (3B3) 2.5 TDI 11.00-05.05
78903343 VW PASSAT VARIANT (3B6) 2.5 TDI 11.00-05.05

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

79 80 81 82

83 84 85
86

87



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

88 04E109244A VW CC 1.4 TSI
 VW GOLF SPORTSVAN 1.0 TSI VW BEETLE 1.2 TSI 16V

05.1505.15-
 12.14-03D145276A VWFOX(5Z1，5Z3)1.2 9,1

03D145276E VWPOLO(9N)1.2 05.07-11.09
89 03D145276D VW POLO 1.2 12V 10.01-07.07 76*24

03C145276B VWBEETLE1.4TSI 05.10-
VWGOLFVI1.4TSI 07.0907.08-

90 VWJETTAIII1.4TSI 10,1
06H903341D VWAMAROK2.0TSI 20102012-
06H903341C VWMULTIVANT57HF2.0TFSI 2015

VWTRANSPORTT5BOX2.0TSI 2012-2015
91 90*25

6QD145276 VWPOLO1.4 06.0905.07-
1J0145276 VW PASSAT(3C2) 1.4TSI 7,1

92 1J0145276B VWGOLFV(1K1)1.4FSI 10.03-07.06 76*26
93 1JD145276B VW 90*27
94 077109244F VW 78*31

03C145276C VWEOS(1F7,1F8)1.4TSI 05.08-
VWGOLF1.4TSI 11.05-11.08

95 VWPOLO1.4GTI 05.10- 76*28.5
VWTPIRAM1.4FSI 11.06-05.10

03F145276 SEAT ALTEA 1.2 TSI 04.10-
SEAT IBIZA V ST 1.2 TSI 09.12-
SKODA FABIA II 1.2 TSI 03.10-12.2014

SKODA RAPID SPACEBACK 1.2 TSI 07.12-
96 VW BETTLE 1.2 TSI 09.09- 76*26

VW CADDY III VARIANT 1.2 TSI 05.10-12.13
VW GOLF VI 1.2 TSI 05.10-11.12
VW JETTA IV 1.2 TSI 05.11-05.14
VW TOURAN 1.2 TSI 05.10-05.15

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

88 89 90 91

92 93 94 95

96



ITEM OE NO. MODEL YEAR SIZE

32145276 SEAT LEON 1.4 16V 11.99-06.06 01.00-
SEAT TOLEDO II1.4 16V 05.02 06.00-05.06
SEAT TOLEDO II1.6 16V 09.00-12.10
SKODA OCTAVIA 1.4 16V 08.00-12.10

SKODA OCTAVIA COMBI 1.4
97 16V 76*26

VW POLI 1.6 FLEX 12.04-04.08
VW FOX 1.0 10.03-

VW GOLF V1.0 FLEX 07.08-07.12
98 59145276 SKODA SUPERB I (3U4) 2.5 TDI 12.01-08.03 76*26

VW PASSAT (3B2) 2.5 TDI 07.98-11.00
 VW PASSAT (3B3) 2.5 TDI  11.00-05.05

VW PASSAT VARIANT (3B6) 2.5  11.00-05.05
78903343 TDI
62145278 VW LT 28-35 II BUS (2DB,2DE,2DK) 2.8 TDI 01.99-01.02 

 VW LT 28-46 II BOX 01.99-01.02
99 (2DA,2DD,2DH) 2.8

 TDI
01.99-07.06 80*25

VW LT 28-46 II PLATFORM/CHASSIS
2.8 TDI

100

11925VC80A VW GOLF II 1.0 11.83-08.85 80*19
11927VC800
11925VC801
11925EB70A
04E109244A SEAT IBIZA V 1.0 05.1512.1210.1110.11-
04E109244B SEAT LEON 1.2 TSI 01.15-
04C109244D SEAT Mii 1.0

SKODA CITIGO 1.0
SKODA FABIA 1.6

101 SKODA OCTAVIA 1.2 TSI 11.12- 50*25
VW CC 1.4 TSI 05.15-

VW GOLF SPORTSVAN 1.0 05.15-
TSI

VW BEETLE 1.2 TSI 16V 12.14-

102 045109244A
 03L109244C VWBORAKOMBI1.9TDI 09.00-05.06 28.5*34

www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

97 98 99 100

101 102 103
104



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

103
069109243B VW LT 28-35 I BUS 2.4 D 12.82-07.92 08.83-03.88

VW PASSAT VARIANT 2.0 10.02-09.98 74.5*28
VW TRANSPORTER T4 BOX 2.4D

104
30888999 VW

70*2696344236
90500229

038109244E VWCADDY1.9TDI/SDI 11.95-01.04
038109244Q VWBORA1.9TDI/SDI 10.98-06.01

VWGOLF1.9TDI/SDI 
105 037109244E VWPolo1.9TDI/SDI 08.97-05.04

 08.99-09.01
47*28

038109244R VWGOLF1.9TDI/SDI 05.99-06.01
038109244B
038109244C

106 038109244H 80*29
038109244M
038109244J SKODA SUPERB 2.0 TDI 07.08-05.15
038109244N VW PASSAT 2.0 TDI 03.05-11.10

VW TIGUAN 2.0 TDI 03.0811.04-
107 VW TOURAN 1.9 TDI 5,1 40*36

VW TRANSPOTER T5 Box 1.9 TDI 04.03-11.09
VWBORA1.9TDI 11.00-05.05

VWGOLF1.9TDI/2.0TDI 11
38145276 SEATIBIZA1.9TDI/SDI 08.99-02.02
38145291 SEAT CORDOBA 1.9 TDI 06.99-10.02

108 SEAT LEON 1.9 TDI 11.99-06.06
 09.96-03.10

65*25
SKODA OCTAVIA 1.9 TDI

VWGOLF1.9TDI/SDI 05.99-
VWCADDY1.9TDI/SDI 11.95-04.04
VWPOLO1.9TDI/SDI 08.99-09.01

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

103 104 105 106

107 108



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

28145278 SEATIBIZA1.6/1.8/1.9TDI/SDI/1.7 08.96-08.99
028145278A SEAT ALHAMBRA 1.9 TDI 04.96-03.10

109 028145278E SEAT CORDOBA 1.6i 05.94-06.99
 07.93-04.99

78*26
VWGOLF1.6/1.8/1.9TDI/SDI/2.0

VWPASSAT1.6/1.8/1.9TDI/SDI/2.0 02.90-05.97
VWPOLO1.6/1.7/1.8/1.9TDI/SDI 11.95-09.97

110 77903341 VWTOUAREG7LA 12.02-11.06 85*25
059903341F SEAT EXEO 2.0TDI 12,08

SEATEXEOST2.0TDI 05.09-
111 VWPHAEETON3.0V6TDI 09.04-

76145276 VWCRAFTER3035BUS2.5TDI 04.06-07.11
112 VWCRAFTER3050PRINTSCHE 04.06-05.13

VW CRAFTER 30-50 PLATFORM 2.5 TDI 04.06-05.13
59903341 SKODASUPERB3U42.5TDI 06.03-03.08

VWPASSAT3B22.5TDI 07.98-11.00
113 VW PASSAT 2.5 TDI 11.00-05.05 64.5*24.5

VW PASSAT VARIANT 2.5 TDI 11.00-05.05
04B109244B SEATIBIZAV1.4TDI 05.1508.1402.14-

SKODAFABIA1.4TDI 05.15-
VWPOLO1.4TDI

114 SKODA RAPID(NH3)1.4 TDI 40*29
SKODA RAPID Spaceback (NH1)1.4 TDI 05.15-

VW POLO Van(6R)1.4TDI 02.14-
115 36313 VOLKSWAGRN ROUTAN V6 4.0L 10-09

VOLKSWAGRN ROUTAN V6 4.0L 
116 J1350354030 VW TARO 2.4 D 07.94-03.97 83*35

VW TARO 2.4 D 4x4 07.94-03.97
117 04627851AA VW TOUAREG(7LA,7L6 7L7) 3.0 V6 TDI 09.08-12.09

VW TOUAREG(7P5) 3.0 V6 TDI 09.12-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores

109 110 111 112

113 114 115 116

117



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

03L109244E SKODAOCTAVIA(1Z3)2.0TDI16V 02.04-
03L109244J SKODA FABIA 1.6 TDI 04.10-12.14
03L109244 SKODA RAPID 1.6 TDI 08.13-

SEAT IBIZA V 1.6 TDI 5,09
SEAT LEON 1.6 TDI 11.01-12.12

SEAT ALTEA(5P1)2.0TDI16V 03.04-
118 VWCC(358)2.0TDI 11.11- 80*30

VW AMAROK 2.0 BiTDI 09.10-
VW BEETLE 1.6TDI 12.11-

03L109244G SKODAOCTAVIA(1Z3)2.0TDI16V 02.04-
3L109244G SKODA FABIA 1.6 TDI 04.10-12.14

SKODA RAPID 1.6 TDI 08.13-
SEAT IBIZA V 1.6 TDI 5,09

119 SEAT LEON 1.6 TDI 11.01-12.12 40*46.5
VWCC(358)2.0TDI 11.11-

VW AMAROK 2.0 BiTDI 09.10-
VW BEETLE 1.6TDI 12.11-

58109244 SEATCORDOBA1.9TDI 06.99-10.02
036109244K SKODAFABIA1.9SDI64 04.00-12.14

120 03L109244D SEATIBIZA1.9TDI/SDI 08.99-02.02
 07.98-12.03

 12.08-

29*28
95510524400 SKODAOCTAVIA1.9TDI/SDI
95510524401 SEAT EXEO 2.0

038109244P SKODA RAPID 1.6T 10.11-
036109244P VWCRAFTER2.5TDI 04.06-

VWPOLO1.9TDI/SDI 08.99-09.01
VWPassat1.8/1.8T 06.97-11.00

121 VW 59*28*10

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

118 119 120 121



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

122
06B109243D VW BORA 1.8T 03.02-05.05
06B109243A VW PASSAT (3B3) 1.8T 20V 11.00-05.05
06B109243F 72*30.5

123 58260511 VWPassat1.6/1.8/1.9TDI 08.98-11.00 64*22.5
078109243S VWPassat2.8 11.00-05.05
078109243R SKODASUPERB(3U4)2.8V6 02.02-03.08

124 078109243Q VWPASSAT(3B2)2.8V6 09.99-11.00 72*32.5
078109244H

125 078109244J 59*36
26109243 SEATCORDOBA1.6i 07.97-01.05

026109243A VWGOLF1.6/1.8  07.80-08.81
026109243C VWPASSAT1.3/1.6  06.96-08.99
026109243E PORSCHE 924 2.0  11.75-08.89
026109243F SEAT TOLEDO I 1.8 i  05.91-12.96

49109243 VW CADDY I 1.8  08.85-07.92
126 01.84-07.92 72*25

056109243B VW JETTA II 1.6  04.75-09.83
026109243G VW LT 28-35 I Box 2.0  09.03-
026109243L VW PARATI III 1.6  08.05-

VW POINTER 1.8  12.95-09.01
VW POLO CLASSIC 100 1.6

127
027109243 SEATTOLEDOI(1L)1.816V 05.9103.99 72*25
051109243 VWCORRADO(531)1.816V 04.8907.92

128

94410227704 PORSCHE 924 2.5 S 09.85-07.87
94410227706 PORSCHE 944 2.5 S 08.86-07.88 50*22

PORSCJHE 968 3.0 06.91-11.95
PORSCHE 968 CONVERTIBLE 3. 0 06.91-11.95

129
078109487A SKODASUPERB2.8V6 12.01-03.08
078109487C VWPASSATVARIANT2.8V6 11.00-05.05

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

122 123 124 125

126 127 128 129



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

130 94810240323 PORSCHE
026109243J VWGOLFCabriolet(1E7)2.0 06.98-06.02 10.96-11.00

24.5*66VW PASSAT (3B2) 1.6 06.97-11.00
131 VW PASSAT Variant (3B5) 1.6

04E145299J SEAT IBIZAV(6J5,6P1)1.0 05.1510.1110.11-
04E145299B SEAT MII(KF1_)1.0 08.14-

SKODA CITIGO 1.0
132 SKODA FABIA(NJ3) 1.0 75*26

VW FOX(5Z1,5Z3)1.0 04.13-
VW POLO(6R,6C)1.0 01.14-

VW UP 1.0 08.11-
OK9BV10730A SEAT ALTEA (5P1) 2.0 TDI 03.06-
0K9BV10730A SEAT EXEO (3R2) 2.0 TDI 02.0901.06-05.09 04.06-

SEAT TOLEDO III (5P2) 2.0 2,13
TDI SKODA OCTAVIA (1Z3)

 2.0 TDI RS
07.08-05.15

SKODA SUPERB II (3T4) 2.0
133 TDI 97*26

SKODA YETI (5L) 2.0 TDI 4X4 11.09-
VW GOLF VI (5K1) 2.0 TDI 04.09-11.12

VW PASSAT (3C2) 2.0 TDI 4 MOTION  05.09-07.10
VW TIGUAN (5N_) 2.0 TDI 4 MOTION  09.07-

06A109243A SEATEXEO1.8 12.08-05.10
SKODASUPERB(3U4)1.8T  12.01-03.08

134 VW(FAW)BORA(1J2)1.8 12.01-12.06 69*28.5
VW(FAW)GOLFIV(1J1)1.8 07.03-07.09

VW(FAW)JETTA(1G2,1J2)1.6 01.98-01.02
VW PASSAT 1.8 T  02.01-05.05
VW PASSAT 2.0 11.01-05.05

135 06A109181 VW(FAW)SAGITAR1.8TURBO 04.06-04.08 28.5*27

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

130 131 132 133

134 135



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

059109243P PORSCHE CAYENNE 3.0D 06.1002.09-09.10
057109243M PORSCHE CAYENNE 3.0 TDI 06.07-11.08

136 059109243N VW PHAETON 3.0 V6 TDI 67*28
VW PTOUARGE 3.0 TDI 04.06-05.10
VW PTOUARGE 4.2 TDI 01.10-

04L109243C VWJETTAVIISPORT1.6TDI 05.1308.1403.14
04L109243B VWPASSAT1.6TDI 05.1405.13-
04L109243G VWPOLO1.4TDI 05.15-

VWSHARAN2.0TDI
SKODA OCTAVIA 2.0 TDI

137 SKODA RAPID 1.4 TDI 68*30
SKODA SUPERB III 2.0 TDI 03.15-

SEAT LEON 1.6 TDI 09.13-
SEATLEON5F11.6TDI 05.13-

SEATLEONST5F82.0TDI 10.13-
138 06D109243 VWGOLFV1K12.0FSI 01.04-11.08

VWTOURAN1T12.0FSI 10.03-11.05
139 028109243H VW PASSAT 1.9 TDI 10.96-11.00

028109243J VWPASSATVARIANT1.9TDI 06.97-11.00
028109243K VW PASSAT VARIAVANT 1.9 TDI 06.97-11.00
04E109479A VW GOLF SPORTSVAN 1.0 05.1510.1110.11-
04C109479G TSI 01.15-

140 04C109479H SEAT Mii 1.0
04C109479J SKODA CITIGO 1.0

SKODA FABIA 1.6 70.5*25 70.5*25
04E109479B SKODA OCTAVIA 1.2 TSI 11.12-

04E109479C VW CC 1.4 TSI 05.15
VW GOLF SPORTSVAN 1.0 05.15-

TSI

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

136 137 138 139



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

036109243AB SEATCORDOBA1.4 05.00-10.02
036109243AD SEATIBIZA1.4 02.02 09.00
036109243AF SEATLEON1.4/1.6 5
036109243E
 036109243L

SKODAFABIA1.4
 SKODAOCTAVIA1.4

9
141 60*24

036109243R SKODA ROOMSTER 1.4 09.06-05.15
036109243AL VWGOLF1.4/1.6 02.00-06.05
039109243AE VWLUPO1.4/1.6 09.98-07.05
074109243D VW LT 28-35 I BOX 2.4D 07.90-05.96

142 VW LT 28-35 I BUS 2.4 D 08.89-06.96
 07.90-05.96
 08.90-06.96

62*22
LT 40-45 I BOX 2.4 D VW LT 40-

55 I PLATFORM CHASSIS 2.4 TD

030109243C VW POLO 45 1.0 10.94-09.96
143 VW POLO KASTEN 1.0 10.94-12.99 62*22

06B109243B VW PASSAT 1.8T 2001-2005
06B109243E VW PASSAT Variant 2.0 2001-2005

VW PASSAT (3B3)1.8T 20V 2000-2005
144 72*31

06A109477A
145 06B109477A 29*27

038109243 SEATIBIZA1.9TDI/SDI 08.99-02.02
038109243D SEATLEON1.9TDI/SDI 11.99-06.06
038109243F SEAT TOLEDO II 1.9 TDI 03.99-07.04

146 038109243G SKODAFABIA1.9TDI 04.0209.96-
038109243H SKODA OCTAVIA 1.9 TDI 3,1 67*30
038109243N VWBORA1.9TDI/SDI 10.98-06.01

VWGOLF1.9TDI/SDI 05.99-06.01
VWPOLO1.9TDI/SDI 08.99-09.01

036109243AC VWPOLO1.4/1.6 10.99-09.01
36109243

036109243AE
147 036109243AG

 036109243K
60*19

036109243S
036109181A
036109181B

148 29*28
036109244C
036109244D

149 036109244J 56*26

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

141 142 143 144

145 146 147 148

149



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

038109243M SEATIBIZA1.4TDI/1.9TDI 05.05
045109243F

1221490
150 2M216K254AA

68*35

06A109479 SEAT ALHAMBRA (7V8,7V9) 2.0 I 04.96-03.10
06A109479A SEAT ALTEA (5P1) 1.6 03.0406.99-

151 06A109479B
 06A109479C
 06A109243C

SEAT CORDOBA (6K2) 1.6 SKODA 10.02 04.00-
 12.07

 02.97-12.07

82*29
FABIA I COMBI (6Y5) 2.0 12.07

SKODA OCTAVIA I (1U2) 1.6 02.97-12.07
06A109479F SKODA SUPERB I (3U4) 2.0 12.01-03.08

VW BORA (1J2) 1.6 10.98-05.05
VW PASSAT (3B3) 2.0 4 MOTION 11.00-05.05

VW CADDY III BOX (2KA,2KH,2CA,2CH) 1.6 04.04-05.15
074109243F VW TRANSPORTER T4 BOX (70XA) 2.5 11.90-04.03
074109243G VW TRANSPORTER T4 BUS 2.5 11.90-04.03
074109243J VW TRANSPORTER T4 PLATFORM 2.5 11.90-04.03

152 074109243R 73*27
074109243C
074109243H
030109243N SEAT CORDOBA 1.0/1.4 06.99-10.02
030109243P SEAT AROSA 1.0 05.97-06.04
030109243L SEAT IBIZA Ⅲ 1.0 08.99-02.02

153 030109243M
 030109243R

VW CADDY ⅡEstate 1.4 VW FOX 1.0 11.95-01.04
 10.03-

62*22
VW POLO 1.0/1.4 10.99-09.01

VW LUPO 1.0 09.98-07.05
VW SAVEIRO V 1.6 09.09-

030109243R VW FOX 1.0 10.0310.99-
VW POLO 1.0/1.4 9,01

VW LUPO 1.0 09.98-07.05
154

VW SAVEIRO V 1.6 09.09-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

150 151 152 153

154



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE
06B109243 SEAT LEON 1.8 20V 11.99-06.06

SKODA OCTAVIA 1.8 T 09.96-07.00
155 VW BORA 1.8

 VW GOLF IV 1.8 T
10.98-05.05
 05.98-06.05

72*30.5
VW NEW BEETLE 1.8 T 10.99-09.10

VW SHARAN 1.8 T 09.97-03.10
036109243J SEAT CORDOBA 1.4i16V 09.96-06.99
036109243D SEAT IBIZA II1.4i16V 06.97-08.99

156 036109243G
 036109243C

SEAT IBIZA II 1.0 16V VW GOL Ⅱ 1.0 10.99-02.02
 08.96-04.99

60.5*27
VW PARA TI1.0 8,02

VW POLO 1001.416V 04.96-10.99
36109244 SEAT CORDOBA1.4i16V 09.96-06.99

036109244G SEAT IBIZA Ⅱ1.4i 16V 06.97-08.99
SEAT IBIZA Ⅲ 1.4i 16V 10.99-02.02

157 VW GOL Ⅱ 1.0 08.96-04.99 56*30
VW PARATI Ⅲ 1.0 08.02-

VW POLO1001.416V 04.96-10.99
059903341G PORSCHE CAYENNE (92A) 3.0 DIESEL 06.10-

 07.13
 PORSCHE PANAMERA (970) 3.0 D

VW PHAETON (3D_) 3.0 V6 TDI 4 MOTION
059903341H PORSCHE MACAN (95B) 3.0 S DIESEL 02.1408.11-

 VW PHAETON (3D_) 3.0 V6 TDI 4 MOTION 07.13
158 06.07-11.08 65*26

VW TOUAREG (7LA,7L6,7L7) 3.0 TDI 04.06-05.10
VW TOUAREG (7P5) 3.0 V6 TDI 01.10-

021012060A PORSCHE 924 2.5 S 09.85-07.87
PORSCHE 944 2.5 01.85-07.87

159 SEAT IBIZA I (021A) 1.2 11.84-12.93
 05.85-12.93

59*26
SEAT MALAGA (023A) 1.2
SEAT RONDA (022A) 1.2 10.84-12.86

160 074145278C VW TRANSPORTT4BUS70XB 08.97-04.03 78*25
VW TRANSPORTT4KASTEN 11.90-04.03
VW EUEOVAN IV Box 2.4 D  06.93-12.94

161
074130195B VW TRANSPORTERT4BUS 05.98-04.03

66*2474130195 VW LT 28IIPRITSCHE 05.01-07.06
VW EUEOVAN IV Box 2.5 TDI 12.98-04.03

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

155 156 157

159 160 161

158



ITEM OE NO. MODEL YEAR SIZE

030109243D VW POLO 60 1.4 07.95-10.99
030109243F VW GOLF Ⅲ 1.6 09.92-08.97
030109243J
 030109243K

VW VOYAGE 1.0
 SKODA FELICIA Ⅰ1.6 LX

08.96-12.01
 08.95-03.98162 SKODA FELICIA Ⅱ1.6 01.98-06.01 62*22

SKODA OCTAVIA 1.6 09.86-09.04
SEAT CORDOBA VARIO 1.6 06.99-12.02

68109243 SEAT CORDOBA 1.9D 01.96-08.96
068109243B SEAT IBIZA Ⅱ1.9D 04.93-08.96

163 068109243C
 068109243F

SEAT TOLEDO Ⅰ1.9 TD VW GOLF 1.6D 05.91-03.99
 08.83-10.91

72*31
27109243 VWJ ETTA 1.6TD 01.84-10.91

VW TRANSPORTER 1.9 TD 01.81-07.87
028109243F SEAT AROSA 1.7 SDI 1997-20904 1993-
028109243E VW VENTO 1.9 TDI 1998

164 67*30
28109244

028109244B
165 28.5*31.5

76260938 VW CRAFTER 30-35 BUS 2.5 TDI 04.06-07.11
VW CRAFT 30-50 BOX 2.5 TDI 04.06-05.13

166 VW
 CRAFT 30-50 PLATFORM 2.5 TDI

04.06-07.11 90*26
022145276A VW PHAETON (3D_) 3.6 V6 4 T 11.08-03.16

MO 210.02-11.06
VW ROUAREG (7LA,7L6，7L7) 3 04.1010.0309.07
VW TOUAREG (7P5) 3.6 V6 FSI

167 PORSCHECAYENNE3.2 60*28
PORSCHECAYENNE3.6 02.07-09.10

168 051109243A SEAT CORDOBA (6K1,6K2) 1.8 I 16V
 SEAT IBIZA II (6K1) 1.8 I 16V SEAT TOLEDO I (1L) 2.0 I 16V VW CORRADO (53I) 2.0 I 16V

10.93-08.96
 11.93-08.96
 11.93-03.99
 08.91-12.95

72*32

169
06D109244A VW GOLF V (1K1) 2.0 FSI 01.04-11.08

59*2706D109244B VW TOURAN (1T1,1T2) 2.0 FSI 10.03-01.07

www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

162 163 164 165

166 167 168 169



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

06B109243C SEAT IBIZA IV (6L1) 1.8 T CUPRA R 01.04-02.08 82*31.5
SEAR IBIZA IV (6L1) 1.8 T FR 12.0305.08 09.05-

 VW POLO (9N_) 1.8 GTI 11.09
170 VW POLO (9N_) 1.8 GTI CUP EDITION 05.06-11.09

06K145172 SEAT IBIZA V SPORTCOUPE (6J1,6P5) 1.8 TSI CUPRA 11.1502.1307.14- 13/108.5*27.
SEAT LEON (5F1) 1.8 TSI 01.16-

VW JETTA IV (162,163) 1.8 TSI
171 VW TIGUAN (AD1) 2.0 TSI 4 MOTION

06D109243B VW GOLF 2.0 GTI 10.04-02.09
06D109119B VW PASSAT 2.0 FSI 10.0510.10 08.05-
06D109243C VW JETTA III 2.0 FSI 10,1

172 6D109243B SEAT ALTEA (5P1) 2.0 FSI 05.04-03.09 67*30
SEAT EXEO (3R2) 2.0 TFSI 03.09-
SEAT LEON (1P1) 2.0 FSI 07.05-05.10

06D109244E SKODA OCTAVIA (1Z3) 2.0 TFSI 11.04-10.08 11.04-
06D109244D SKODA OCTAVIA II COMBI 10,08
06D109244C (1Z5) 11.04-10.08

173 6D109244C SKODA OCTAVIA II COMBI 28*29
6D109244D (1Z5)
 6D109244E
06B109244

174
03G145276 VWTIFUAN(5N)2.0TDI4motion 09.07-

VWAMAROK2.0TDI4motion 11.11-
VW CRAFTER 30-35BUS 2.0 05.11-12.16
TDI SEAT EXEO ST 2.0 TDI 05.09-

175 SEAT EXEO ST(3R5) 2.0 TDI 05.09- 70*29
SEATEXEO(3R2)2.0TDI 02.09-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

170 171 172 173

174 175



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

077109485C VW PHAETON (3D_) 4.2 V8 4 MOTION 05.03-03.16
077109485E VW TOUAREG (7LA,7L6，7L7) 4.2 V8 12.02-11.06

176 077109485F 62*34
077109244D

177 077109244E
178 077109244C
179 077109479D

074145278E VW CORRADO (53I)1.8 G60 09.89-12.92
 07.90-04.98
 05.01-07.06
 09.88-08.96
 09.92-12.96

37145276 VWTRANSPORTERT4 07.90-04.98
037145276A VWLT2846IIKasten(2D×0AW)2.5TDI 05.01-07.06

180 037145278A VW PASSAT 1.8 G60 SYNCRO  09.88-08.96 90*25.5
VW EUROVAN/CARACELLE IV Bus 2.4D  09.92-12.96

028109243B SEATTOLEDOI(1L)1.9TDI 08.95-03.99
VWGOLFIII(1H1)1.8TDI 09.93-08.97

181 VWVENTO(1H2)1.9TDI 09.93-09.98 67*30
045109243C VWGOLFIVVARIANT1.9TDI 09.00-06.06
045109243A VWPOLOSTUFENHECK1.4TDI 04.00-03.10
045109243B VWNEWBEETLE1.9TDI 05.0511.00-

182 045109243D VWPASST1.9TDI 5,05 72*35
SKODAFABIA1.9TDI 08.02-10.05

SKODA OCTAVIA 1.9TDI 04.00-12.07
183 074109243M

 
VWCRAFTER3035Bus(ZE_)2.5 04.06-07.11 73*27

074109243E  VWLT2846IIPritsche/Fahrgestell  09.96-07.06
VWTRANSPORTERT4Bus  05.98-04.03

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

176 177 178 179

180 181 182 183



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

03G109244A SEAT ALEA 2.0 TDI 03.04-05.09
SEA LEON 2.0 TDI 07.05-05.10

184 SKODA IOCTAVIA 2.0 TDI 02.04-04.13 80*34
SKODA SUPERB II ESTATE 2.0 TDI 10.09-05.15

VW GOLF 2.0 TDI 11.05-11.08
VW PASSAT 2.0 TDI 08.05-11.10

VW TOURAN 2.0 TDI 16V 08.03-05.10

185 979669 VW GOLF PLUS 2.0 TDI 2005-2013 68*35
03G109243 VW JETTA III 2.0 TDI 2006-2010
MN980101 VW PASSAT 2.0 DI 16V 2005-2010

VW TOURAN 2.0 TDI 16V 2003-2010
03G109244 VW JETTA III 2.0 TDI 10.06-10.10

186 VW PASSAT 2.0 DI 16V 03.05-08.10 80*34
VW TOURAN 2.0 TDI 16V 08.03-05.10

07K145172C VW JETTA III 2.5 2006-2010
187 VW JETTA IV 2.5 20102005- 73*22

VW NEW BEETLE 2.5 2010
188 07K145172B VW JETTA III 2.5 VW 01.06-10.10 65*22

JETA IV 2.5 04.10-
SKODA FABIA 1.4 TDI 2003-2007

SKODA ROOMSTER 1.4 TDI 2006-2010
189 VW FOX 1.4 TDI 2005-

VW LUPO 1.2 TDI 1999-2005
VW POLO 1.4 TDI 2005-2009

190 044903315C VWTRANSPORTERIVKasten(7XA)2.0
 

07.90-04.03
 VW TRANSPORT T4 BUS 2.4  08.96-04.03

VW TRANSPORT T4 BUS 2.5  09.90-04.03
191 74130245 VWLT2846IIPritsche/Fahrgestell 06.96-08.99 63*24

VWTRANSPORTERT4Bus  05.98-04.03
VWLT28-35IIBus(2DB,2DE,2DK)2.5 SDI  07.96-07.06

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

184 185 186 187

188 189 190 191



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

074145278F VWLT28-46IIBOX2.5TDI 05.99-07.06
044145278A VWTRANSPORTT4BOX2.0 07.90-04.03

192 VWTRANSPORTT4BOX2.4D 01.99-07.06
 07.90-04.98

81*26
VWTRANSPORTT4BOX2.4D

VWLT28-35IIBus(2DB,2DE,2DK)2.5 SDI 07.96-07.06

058109243E SEATCORDOBA1.9TDI 06.99-10.02
058109243C SKODAFABIA1.9SDI64 04.00-12.14

SEATIBIZA1.9TDI/SDI 08.99-02.02
193 72*32.5

SKODAOCTAVIA1.9TDI/SDI 07.98-12.03
SEAT EXEO 2.0 12.08-

059260523B VW PASSAT 2.5TDI 4motion 01.03-05.05 01.03-
59260523 VW PASSAT VARIANT 2.5 TDI 4motion 5,05

194 059260523A VWPASSAT2.5TDI 11.00-05.05 63*17
VWPASSATVARIANT2.5TDI 11.00-05.05

03L109243F SEATALHAMBRA(710)2.0TDI 2011- 66*30
03L109243B SKODAYETI(5L)2.0TDI4x4 2009-

195 03L109243D VWAMAROK2.0BITDI 20102010-2015
VWTOURAN2.0TDI 2011-2015

VWTRANSPORTT5BOX2.0TDI 2009-2015
VWTRANSPORTT5BUS2.0TDI

028145278M SEAT AROSA6H1.0 05.97-06.04 10.94-
SKODA FELICIAI1.3 03.98 04.99-03.01

196 SKODA OCTAVIA 1.4 06.96-12.00 70*27.5
VW CADDYIIPICKUP1.9D

VW POLO 6N1 1.9SDI 07.96-10.99
VW POLO 6N1 1.9SDI 07.96-10.99

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

192 193 194 195

196



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

059109243F SKODA SUPERB(3U4)2.5TDI 2001-2003
197 059109243G VW PASSAT 2.5 TDI 1998-2000 73*27

059109243L VW PASSAT 2.5 TDI Syncro 1998-2000

VW PASSAT variant 2.5 TDI 2000-2005
059109243D
059109243J

198 34*72
059109244A
059109244B

199 059109244D
 059109244

70*34
59109244

200 059109479B
059109487A
059109487B

201 059109487C

04E109479A SEAT IBIZA V 1.0 05.1512.1210.1110.11-
04C109479G SEAT LEON 1.2 TSI 01.15-
04C109479H SEAT Mii 1.0
04C109479J SKODA CITIGO 1.0
04E109479B SKODA FABIA 1.6

202 70.5*25
VW CC 1.4 TSI 05.15-

VW GOLF SPORTSVAN 1.0 05.15-
TSI

VW BEETLE 1.2 TSI 16V 12.14-

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

197 198 199 200

201 202



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

03L109243A SEAT ALTEA(5P1)2.0TDI
03.06-

 12.0805.06-
 12.12 04.06-

 02.13
 07.08-05.15
 05.0905.08-

 08.15
 01.09-12.13
 08.05-10.10
 01.09-11.10

 08.08-
 03.08-

03L109243E SEAT EXEO(3R2)2.0TDI
SEAT LEON(1P1)2.0TDI

SKODA OCTAVIACOMBI(1Z5)2.0TDIRS
SKODA SUPERB(3T4)2.0TDI
SKODA YETI(5L)2.0TDI4x4

203 VW EOS(1F7,1F8)2.0TDI16V 78*35
VW GOLFPLUS(5M1,521)2.0TDI

VW JETTAIII(1K2)2.0TDI16V
VW PASSAT(3C2)2.0BLUETDI

VW SCIROCCO(137,138)2.0TDI
VW TIGUAN(5N_)2.0TDI

028109243D SEAT AROSA (6H) 1.7 SDOI 08.97-06.04

204 028109243G SKODA FELICIA I (6U1) 1.9 D
 SKODA FELICIA I ESTATE (6U5) 1.9 D

 SKODA FELICIA II (6U1) 1.9 D

10.95-03.98
 10.95-03.98
 01.98-06.01

67*28

VW CADDY II PICKUO (9U7) 1.7 D 06.96-12.00
VW LUPO (6X1,6E1) 1.7 SDI 04.97-10.99

VW POLO (6N1) 64 1.9 D 10.94-10.99
205 046130195B VW 60*24

59145284 SKODA SUPERB I (3U4) 2.5 TDI 12.01-08.03
206 059145284B VW PASSAT (3B2) 2.5 TDI 07.98-11.00

VW PASSAT VARIANT (3B5) 2.5 TDI 07.98-11.00
207 047903306C

 47903306C
SKODA FABIA I (6Y2) 1.0 12.99-08.02 70*24

021145299A VW EUROVAN 2.8L 2771CC 2002
VW EUROVAN 2.8L 2771CC 2001

208 VW EUROVAN 2.8L 2771CC 2000
62*30 7PK

05E109244 VW Golf VII 5G1, BE1, BE2, BQ1 1.5 TGI 2018/11-2021/12
Seat Leon KL1 1.5 eTSi 2019/11-2021/12

 Skoda Kamiq NW4 1.5 TSI  2019/07-2021/12 50*25
209

VW Passat Variant 3G5, CB5 1.5 TSI 2018/08-2021/12
06L903133Q VOLKSWAGEN 55*26
059903133AK
059903133AT

210 06L903133P
06N903133

059903133AC

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

203 204 205 206

207 208 209 210



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

211
059903341AG VW Amarok 3.0 V6 06.16-12.21

VW AMAROK 2HA 3.0 TDI O06.18-.12.21
VW AMAROK 2HB 3.0 TD 4 MOTI

212 059903133R 6203B14
213 377145299B

 068145299RS
VW 76*31

94810212000 PORSCHE CAYENNE 9PAS 4.5 09.02-09.07
94810212001 PORSCJE CAYENNE 9PA TURBO 4.5 09.02-09.07

214 94810212002
94810211901 PORSCHE CAYENNE 9PAS 4.5 09.02-09.07

215 94810211902 PORSCJE CAYENNE 9PA TURBO 4.5 09.02-09.07
04L109243H VW ARTEON 3H7 2.0 TDI 04.17-07.20

VW TIGUAN 2.0 TDI 05.16-07.20
216 VW PASSAT 2.0 TDI 2021 78*30

VW ARTEON 2.0 TDI 2020
SKODA KODIAQ 2.0 DIESEL SUV 2022

05C109244 AUDI Q2 20 TFSI 2020
05C109244A SKODA OCTAVIA 1.0 TFSI 2021

217 SKODA SCALE 1.0 TFSI 2021 50*25
VW GOLF 1.0 TFSI 2020
VW POLO 1.0 MPI 2022

218 057903133L VW TOURAGE 4.2 V8 TDI 01.10-03.18 65*26
03N109244A SKODA SUPERB III KOMBI 2.0 03.15-12.21

TDIVW ARTEON 2.0 TDI 04.17-11.19
219 VW GOLF VIII 2.0 TDI 09.20-12.21

VW CADDY V TDI BMT 09.20-12.21 57*31

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

211 212 213 214

215 216 217 218

219



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

078109479E VWPASSAT(3B2)2.8V6 08.96-11.00
220 SKODASUPERB(3U4)2.8V6 12.01-03.08
221 045109479B VWSHARAN(7M8,7M9,7M6)1.9TDI 09.95-03.10

SEATALHAMBRA(7V8,7V9)1.9TDI  04.96-03.10
SKODASUPERB(3U4)1.9TDI  12.01-03.08

058109479B VWPASSAT(3B2)1.8 10.96-11.00
222 058109479

 058109479A
VW PASSAT(3B3) 1.8t 20V

 VW PASSAT VARIANT (3B6) 1.8 T 20V
11.00-05.05
 11.00-05.05

223

03C109507R SKODA FABVIA II 1.6 04.07-12.14
03C109507AH VW BEETLE 1.4 TSI 06.1007.05-

VW GOLF PLUS 1.4 FSI 11,06

224 050109479A VWGOLFIVCABRIOLET(1E7)2.0 06.98-06.02
50109479 VWPASSAT(3B2)1.6 10.96-11.00

045109479C SEATAROSA1.4TDI 01.00-06.04
VWBORA1.9TDI 12.98-01.02

225 VWGOLFIV1.9TDI 12.98-06.01
VWLUPO1.4TDI 08.98-11.00

VWPASSAT1.9TDI 08.98-11.00
VWPOLO1.4TDI 10.99-09.01

VWSHARAN1.9TDI 09.95-03.10
226 06K109467 VW
227 06K109467A8KB VW

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

220 221 222 223

224 225 226 227



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

228 06B109477
 06B109479 VW GOLF Ⅳ 1.8 VW JETTA Ⅳ 1.8 08.97-06.05

 10.98-05.05 29*27

229 045109479D VW LUPO (6X1,6E1) 1.2 TDI 3L 07.99-07.05

06B109477B SEAT IBIZA IV (6L1) 1.8 T CUPRA R 01.04-02.08

SEAT IBIZA IV (6L1) 1.8 T FR VW 12.03-05.08

POLO (9N_) 1.8 GTI 09.05-11.09

230 VW POLO (9N_) 1.8 GTI CUP EDITION 05.06-11.09

231
06F109217A Volkswagen Golf 2004-2012

06D109229B Volkswagen Jetta 2005-2010

241381 Volkswagen Passat 2006-2010

232 04E109088AB EA211 1.4T1.6

233 04E109088AC EA211 1.4T

234 04E109111R EA2111.6

235 028130111F INY BOMBA

074105263B VWCRAFTER3035Bus2.5TDI 04.06-07.11

VWLT2835IIBus2.5SDI 07.96-07.06

236 VWTRANSPORTERIVBus2.4D 08.97-04.03

VWTRANSPORTERIVKasten2.4D  07.90-04.98

237 023109111D VW

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

228 229 230 231

232 233 234 235

228 229 230 231

236 237



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE
238 06A109105D VW

06A109105C SEAT CORDOBA 1.6 06.99-10.02
SKODA OCTAVIA 1.6 02.97-12.07

239 VW BORA 1.6
 VW PASSAT 1.6

07.98-12.07
 06.97-11.00049109111C VW GOLF 1.5 08.77--07.83

056109111A VW LT 40-55 I BOX 2.4 12.82-07.92
056109111A VW PASSAT 1.6 08.87-03.88

240 049109111B

028105263E SEAT TOLEDO 1.9D 12.95-03.99
28105263 VWGOLFIII(1H1)1.9TD,GTD 11.91-08.97

241 068105263C
 028105263EX

VWJETTAI(16)1.6D 08.80-02.84

028105263A VW.POLO1.9TDI 06.99-10.02
028105263D SEAT COROBA VARIO 1.9 TDI 09.96-06.99

242 SEAT IBIZA II 1.9 TDI 02.97-08.99

030105263C VWGOLFIII1.4 11.91-08.97
030105263G VWJETTAII1.3CAT 06.87-12.91

243 030105263A VWLUPO1.0 09.98-07.05
030105263B VWPOLO451.0 10.94-09.96

VWVENTO1.8 11.91-09.98
030105263C VWGOLFIII(1H1)1.4 11.91-08.97

30105263A VWJETTAII(19E,1G2,165)1.3CAT 06.98-12.91

VWPOLO(6N1)551.4 07.95-10.99
244 030105263A

 30105263B
 030105263B

 VWVENTO(1H2)1.4 11.91-09.98

074130111H VWLT28-46IIPLATFORM2.5TDI 05.01-07.06
9180619 VWLT40-55IPLATFORM2.4TDI 08.90-06.96

245 VWTRANSPORTT4BOX2.4TD 07.90-04.98
VWTRANSPORTT4BUS2.4D 08.97-04.03

069109111 1257231 SEATAROSA1.7SDI 08.97-06.04
SEATIBIZAII1.9D 04.93-08.96

SKODAFELICIA1.9D 10.95-03.98
246 VW GOLF 1.5

 VW LT 40-55 I BOX 2.4
08.77--07.83

 12.82-07.92

VW PASSAT 1.6 08.87-03.88
VWCADDYII1.9D 10.96-01.04
VWGOLFII1.6D 08.89-10.91

12.82-07.92

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y TensoresPoleas y Tensores

238 239 240 241

242 243 244 245

246



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

ITEM OE NO. MODEL YEAR SIZE

247 046130101A VW
248 036109111Q VWSEATALTEA5P1MPV1.416V 2011

VWALTEAXL5P5MPV1.416V 2015
249 036109111G VWSEATALTEA1.4TSI1390CCM 2007

 VWSEATALTEAXL1.4TSI 2014
250 04E106263B VW

038105263F VWTOURAN1.9TDI 08.03-05.10
VWTRANSPORTVBOX2.0 11.0309.05-

251 VWJETTAIII2.0TDI 10.10
 08.05-07.10VWPASSAT3C22.0TDI 08.05-07.10

SKODAFABIA6Y21.9TDI 01.00-03.08
VWBORAJETTA1Z52.0TDI 11.05-05.10
VWCADDYIIIBOX2.0TDI 11.10-

021903119G SEATIBIZA1.4TDI/1.9TDI/SDI 2,02
022903119A SEATLEON1.6/1.9TDI/SDI/2.8 11,99

028903119AM SKODAFABIA1.9TDI 4,02
252 038903119A VWBORA1.6/1.8/1.9TDI/SDI 11.0005.05 17*61

038903119T VWGOLF1.8/1.9TDI 1,05
022903119C VWPOLO1.4TDI/1.9TDI/SDI 10,01
074903119E VWTRANSPORTER2.5 09.95-04.03

253 VW TRANSPORTER T4 BUS 2.5 TDI 05.98-04.03 17*73
VW TRANSPORTER T4 KASTEN 2.5 TDI 09.95-04.03

021903119H VWTRANSPORTERIVBus 05.98-04.03
021903119K VWTRANSPORTERIVKasten 12.98-04.03

254 VWTEANSPORTERIVPritsche/Fahrgestell 05.98-04.03 41.5*73.5
022903119B VWLT2846IIPRISTECHE 04.02-07.06
022903119D VWMULTIVANT5 04.30-11.09

028903119AC VWPOLO6N11001.416V 04.96-10.99
255 038903119M VWTRANSPORTERT5PRISTCHE 11,03 17*61

VWTIGUAN2.0TDI 11,07

247 248 249 250

251 252 253 254

255



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE
256 06H903201G

 06H903119C
PORSCHE MACAN 2.0 10.15-

04E903201 SEAT ATECA 1.4 TSI 05.16-
04E903201A SEAT IBIZA V SPORT 1.2 TFSI 5,15
04E903201E SEAT LEON ST 1.4 TSI 10.1308.1412.1406.15-

SKODA FABIA III 1.0 05.14-
VW BEETLE 1.4 TSI

VW CADDY ALLTRACK BOX 1.2 TSO
VW GOLF VII 1.4 TSI

257
VW JETTA IV 1.4 TSI 08.14-

VW PASSAT ALLTRACK 1.4 TSI 02.15-
VW POLO 1.0 01.14-

VW SHARAN 1.4 TSI 05.15-
VW TIGUAN 1.2 TSI 05.15-

028903119S SEATAROSA1.7SDI 08.97-06.04 10.95-
028903119AP SKODAFELICIAI1.9D 3,98

VWCADDYIIPickup1.9D 06.96-12.00
258 37*61.5

VWPOLO1.7SDI 04.97-10.99
07K903119C VWJETTAIV2.5FSI 04.10 07.05

VWNEWBEETLE2.5 07.05-09.10
259 VW NEW BEETLE CABRIOLET 2.5

028903119AA SEATALHAMBRA1.9TDI 08.96-06.00 08.95-
028903119AQ SKODAFELICIAI1.6LX 03.98 09.96-01.04

260 028903119P VWCADDYIIKasten1.9TDI 11.91-08.97 40.5*55.5
 VWGOLFIII1.9D
VWPASSAT1.9D 05.89-10.93

VWPOLOVariant1.7SDI 08.97-09.01
03G903119B SEATEXEO2.0TDI 2,09

45903119 SKODAFABIA1.4TDI 10.05-03.08
045903119A VWCARFTER3035Bus2.0TDI 10,11

261 VWAMAROK2.0TDI 9,1 53*40
06B903119B SEATALHAMBRA/ALTEA/EXEO/LEIN 11.10 06.07
06B903119D SKODAOCTAVIA/SUPERB/YETI 11,11

VWCC/EOS/GOLF/JETTA 11.09-05.11
262 VWPASSAT/SCIROCCO/SHARAN/TIGUAN 62*36.5

038903119Q SEATAROSA 08.97-06.04 09.98-
038903119AB VWLUPO 7,05

VWPOLO 08.97-10.99
263 37*61

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

256 257 258 259

9

260 261 262 263



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

038903119P VW PASSAT 2.0 11.00-05.06

35*61.5
VW PASSAT Variant (3B5) 1.6 06.07-11.00

SKODASUPERB VWPASSAT 12.01-03.08

264 SKODASUPERB VWPASSAT 10.96-11.00

028903119AN VW PASSAT 1.9 TDI 4 MITION 10.96-11.00

36.5*61.5
028903119T VW PASSAT VARIANT 1.9 TDI 4 MITION 06.97-11.00

28903165 VWPASSAT 10.96-11.00

265

038903023G SEATALHAMBRA(7V8,7V9)1.8T20V 10.97-03.10

038903023H SKODAOCTAVIA(1U2)1.9SDI 06.97-12.03

038903023J
 038903165 VWGOLFIV(1J1)1.9SDI 08.97-06.05

266 038903119
 071903023A 42.5*61.5

038903119AC VWPASSAT 10.96-11.00

267
038903119L
 071903119B

 9949580
VW PASSAT VARIANT (3B5) 1.0 TDI

 VW PASSAT VARIANT (3B6) 2.3 VR5 4motion
06.97-11.00
 11.00-05.05 36.5*61.5

268 028903119AJ VEW GOLF II 1.9D 04.98-05.02

070903201C VWMULTIVANT57HM 07.04-11.09

070903201E
 4DFB503220

VWTOUAREG7LA2.5
 VWTRANSPORTERT5PRITSCHE

01.03-05.10
 07.04-11.09

269

270

271

021903119J PORSCCAYENNE(955)3.2 10.03-

021903119L VWPHAETON(3D2)3.2V6 04.0210.02-

VWTOUAREG(7LA.7L67L7)3.2V6 11,06

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

264 265 266 267

9

268 269 270 271



www.euromotors.com.uy

+598 2900 0237euromotors@euromotors.com.uy
www.euromotors.com.uy

Yaguarón 1587. 
Montevideo, Uruguay

ITEM OE NO. MODEL YEAR SIZE

03D903119A SEATCORDOBA(6L2)1.2 10.02-06.06 02.02-

SEATIBIZAIV(6L1)1.2 6,06

SKODAFABIA(6Y2)1.2 08.02-03.08

272 VWFOX(5Z1,5Z3)1.2 09.10-

VWPOLO(9N_)1.2 01.02-05.07

03C903119C VWJETTAVIIV1.6 12.1108.10-12.14

03C903119D VWPASSATUP1.4STI VWPOLO6R6C1.2TSI 05.11-05.14

 03C903119F

 05.10-05.15

03C903119A VWTOURAN1T31.2TSI 08.1109.1309.09-

04C903119 VWUP1.0
 VWVENTO1.6 12.1106.07-07.09

SKODAYETI5L1.2TSI

VWBETTLE1.4TSI

273 VWBORA/JETTAVESTATE1.4TSI

VWCADDYIIIBOX1.2TSI 09.10-

VWCC3571.4TSI 01.11-01.12

VWCC1.4TSI 11.11-

VWGOLFPLUS1.2TSI 02.10-12.13

SKODABITIGO1.0 08.14-

SKODAFABIAESTATEN51.0 10.14-

SKODAOCTAVIACOMBI1.2TSI 02.10-04.13

SKODARAPIDNA21.6 10.11-

06E903119 PORSCHE CAYENNE(92A)3.0 06.2010-

059903119G Die VW TOUARGE(7LA,7L6,7L7)3.0 V6 TD 09.2008-12.2009

059903119H VW TOUARGE(7P5)3.0 V6 TDI 09.2012-

274 059903119L

GD115071

04E903219B SEAT IBIZA IV (6J5,6P1) 1.0 TSI 2015-

04E903201

275 04E903201A
 04E9032201E

8V0903119

VOLKSWAGEN Poleas

RT NO. RT NO. OE NO. L R Description

REPAIRING KIT

Rubber Bushing available by request

CA-VW0041 CA-VW0083

TE-VW0010

RE-VW0041 RE-VW0043 RE-VW0045

CA-VW0083 1H0 407 151 CONTROL ARM / except. GTI/GTI 16V/VR6 CA-VW0083K

BJ-VW0005 BJ-VW0005K 357 407 365A BALL JOINT

CA-VW0041 191 407 151B CONTROL ARMCA-VW0041K

SL-VW0043 1H0 411 315 STABILIZER LINK / for. GTI/GTI 16V/VR6 

TE-VW0010 191 419 812 TIE ROD END / M14x1.5 RHT

TE-VW0009 191 419 811 TIE ROD END / M14x1.5 RHT

RE-VW0041 1H0 419 821 RACK END / M14x1.5 RHT / MANUAL STEERING

RE-VW0043 1H0 422 821A RACK END / M14x1.5 RHT / POWER STEERING TRW

RE-VW0045 1H0 422 821B RACK END / M14x1.5 RHT / POWER STEERING ZF

CA-VW0043 BJ-VW0005

BJ-VW0027 SL-VW0043 TE-VW0009

CA-VW0043 1H0 407 151A CONTROL ARM / for. GTI/GTI 16V/VR6 CA-VW0043K

BJ-VW0027 BJ-VW0027K 1H0 407 365 BALL JOINT / for. GTI/GTI 16V/VR6 

RB-VW0003

RB-VW0003

RB-VW0517 RB-VW0517

RB-VW0003

RB-VW0517

VOLKSWAGEN
GOLF III 1991-1997

CADDY II 1995-2004Poleas y Tensores Poleas y Tensores

272 273 274 275

9


